SIEMENS

Filterliifter und Austrittsfilter, IP5X und EMV

8MR64.. - .LV..

Filter fan and outlet filter, IP5X and EMV 88|\|>I/|§6645 N Cli-x
Ventilateur du filtre et filtre de sortie, IP5X et CEM 8MR65.. - .GV..
Ventilador-filtro y filtro de salida, IP5X y CEM 8MR64.. - 5LE..
Ventilatori con filtro e filtri di uscita, IP5X ed EMC
Ventilador do filtro e filtro de saida, IP5X e EMC
Filtre fani ve cikis filtresi, IP5X ve EMV
BeHTUnsTop ¢ punbTpom U BbixogHou punbtp, IP5X u EMV
Wentylator filtra i filtr wylotowy, IP5X i spetniajacy wymogi kompatybilno$ci
elektromagnetycznej (KEM)
B MBI OFIERS, IPSX #1 EMV
CE€ IEC 60335-1

Betriebsanleitung
Operating Instructions
Instructions de service
Instructivo

Istruzioni operative
Instrucoes de Servico
isletme kilavuzu

PyKOBOJJ,CTBO no 3KcnnyaTtauuu

Instrukcja obstugi

MR

GEFAHR Gefdhrliche Spannung. Lebensgefahr oder schwere Verletzungsgefahr.
Vor Beginn der Arbeiten Anlage und Gerdt spannungsfrei schalten.
DANGER Hazardous voltage. Will cause death or serious injury.
Turn off and lock out all power supplying this device before working on this device.
DANGER Tension électrique. Danger de mort ou risque de blessures graves.
Mettre hors tension avant d'intervenir sur I'appareil.
PELIGRO Tensién peligrosa. Puede causar la muerte o lesiones graves.
Desconectar la alimentacion eléctrica antes de trabajar en el equipo.
?I‘ PERICOLO Tensione pericolosa. Pud provocare morte o lesioni gravi.
(] Scollegare I'alimentazione prima di eseguire interventi sull'apparecchiatura.
A PERIGO Tensao perigosa.Perigo de morte ou ferimentos graves.
Desligue a alimentacdo elétrica e proteja contra o religamento, antes de iniciar o trabalho no equipamento.
TEHLIKE Tehlikeli gerilim. Oliim tehlikesi veya agir yaralanma tehlikesi.
Calismalara baslamadan 6nce, sistemin ve cihazin gerilim beslemesini kapatiniz.
OMACHO OnacHoe HanpsaxeHue. ONacHOCTb AJ1A1 X)KU3HU UMW BO3MOXXHOCTb TAXENbIX TpaBM.
Mepen Hauanom paboT OTKAOUKUTL NoAaUy NMUTAHWA K YCTAHOBKE U K YCTPOMCTBY.
ZAGROZENIE | Niebezpieczne napiecie. Niebezpieczeristwo powaznych obrazer lub utraty zycia.
Przed rozpoczeciem prac wytgczy¢ zasilanie instalacji i urzadzenia energia elektryczna.
ek EREE. FTESHEGEREEGRRK.

IRIEIRE R IR IR TR R IR,

Technical Support:

‘ Internet: http://www.siemens.com/lowvoltage/technical-support

L1V30056365-02
3ZW1012-0MR64-5AA0

Last Update: 16 March 2015



E i Notwendige Werkzeuge / Necessary tools | Outils nécessaires | Herramientas requeridas | 2T E

5,5 mm
(s /7%%/
“\ o >

);[ 7 Lieferumfang / Scope of delivery | Etendue de la livraison | Alcance de suministro | £ 555Gl

33,5mm @4,5mm

8MR65.. - 5LV.. y /%I
.
=| %
8MR6... - 6GV.. /z
‘I
% M3 x @
10 mm/
8MR6... - 6LV.. 41: /%l l1\/|24n>’(]m \\\\\\\\

2 L1V30056365-02
3ZW1012-0MR64-5AA0



Montage / Assembly | Montage | Montaje | %3&

A

*)

*) *) )
@3,5mm @45mm
10
R
el
9
o a b b1 b2 C
mm mm mm mm mm
! 8MR64..-.LV10 | 92 92 - 6 | 4x3,5
8MR64.. - .GV10 M3 x 10
8MR64.. - 5LE25 | 125 | 133 - - | 4x45
8MR64.. - .LV25 M4 x 12
8MR65.. - .LV25
1 | 8MR64.. - .GV25
| | : 8MR65.. - .GV25
1 : 8MR64..-.LV30 | 177 185 | 92,5 - | 8x45
al : : 8MR65.. - .LV30 M4 x 12
1) 8MR64.. - 5LE30
| 8MR64.. - .GV30
8MR65.. - .GV30
Y, 8MR64..-.Lv45 | 223 | 234 | 117 - | 8x45
RN 8MR65.. - .LV45 M4 x 12
e . 8MR64.. - .LV41
/ ob N 8MR65.. - .LV41
/ Ob2 \ 8MR64.. - .GV45
/ = < \ 8MR65.. - .GV45
f|:|a b1 1 c 8MR64..-.LV60 | 292 = 302 | 151 - | 8x45
. SN R I P 8MR65.. - .LV60 M4 x 12
Vol b ‘ / 8MR64.. - .LV80
\ i / 8MR65.. - .LV80
N 3 o / 8MR64.. - .GV67
N s 8MR65.. - .GV67
\\~4 /‘/
Bohrungen nur bei EMV-Ausfiihrung erforderlich!

Drill holes only necessary for EMC version!

Percages nécessaires uniquement pour la version CEM !

Taladros solo necesarios en la version con alta compatibilidad electromagnética.

| fori sono necessari solo per I'esecuzione EMC!

Furos apenas necessarios na versdao EMC!

Delikler sadece EMV modelinde gereklidir!

OTBEPCTUA HEODOXOAWMbI TONbKO NPU UCMONTHEHWM C 3aLLMTOM OT 3NEeKTPOMarHUTHbIX BO3AeNCTBUIA!

Otwory wymagane tylko w przypadku urzadzen spetniajagcych wymogi kompatybilnosci elektromagnetycznej!

RE EMC I SHdRBTESTL |

L1V30056365-02
3ZW1012-0MR64-5AA0




Montage extern | Assembly external / Montage rapporté / Montaje externo | JpERZ&2E

Montage auch bei Reinigung bzw. Wechsel der Filtermatte (x) erforderlich.

Assembly also necessary when cleaning or changing the filter mat (x).

Montage nécessaire également aprés nettoyage ou remplacement du mat filtrant (x).

Montaje necesario también en caso de limpieza cambio de las estera de filtro (x).

Il montaggio & necessario anche in caso di pulizia o sostituzione del filtro (x).

A montagem também é necessaria no caso de limpeza ou troca da esteira filtrante (x).

Filtre matinin (x) temizlenmesi veya degistirilmesi sirasinda da montaj gereklidir.

YcTaHOBKa HeobxoaMMa TakKe NpU OUMCTKE UIMAK CMeHe hUnbTpYHoLLEN NPOKNaaKK (X).

Montaz wymagany takze w przypadku czyszczenia lub wymiany maty filtra (x).

HEHITHEELERTIEE 1) FERFEHITRER.

Anschluss | Connection [ Raccordement / Conexidn | iE$#E

AN

NS

N

AN

© —ue

L1V30056365-02
3ZW1012-0MR64-5AA0



Montage | Assembly / Montage | Montaje | &3

EMV/EMC:
8MR6... - 6GV..
8MR6... - 6LV..

‘\n

/

L

ﬂ ,

a /
\gﬂ

OOO

L1V30056365-02
3ZW1012-0MR64-5AA0

5



Montage extern | Assembly external | Montage rapporté | Montaje externo | 9MNER&4E

4|

&6 |

Technische Anderungen vorbehalten. Zum spéteren Gebrauch aufbewahren. L1V30056365-02
Subject to change without prior notice. Store for use at a later date. 3ZW1012-0MR64-5AA0

© Siemens AG 2013



